
Q1
Metre rulers are made by a machine.  Accurate measurements with a micrometer show that they lie between 99 cm  and 101 cm.  A sample of twenty gave the following readings:

	101.0
	100.5
	99.4
	100.2
	100.6
	100.0
	100.6
	100.7
	100.9
	99.8

	99.7
	99.3
	99.7
	100.1
	100.0
	99.7
	99.5
	99.6
	100.7
	100.9


a) What is the mean length?

b)
What is the modal length?

c)      What is the median length?

Q2
Find the mean, mode, median and range of the following data:

a) 20, 18, 16, 14, 12, 0, 4, 6, 8

b)
5, 1, 2, 2, 4, 3, 3, 4, 3

Q3
A darts player scored 180 with 5 darts, the individual scores being as follows


Dart 1 – treble 20

Dart 2 – double 20
Dart 3 – double 19    Dart 4 – 2
Dart 5 – double 20
What was his mean score per dart?

Q4
Henry scored 63% on the first exam paper.  His score on the second paper was obliterated because of the maths teacher burning a hole in with his pipe.  Henry knows that he passed with an average score of 50% over the two papers.

a) What did Henry achieve on his second paper?

b) Which paper did Henry do better at?

Exam style questions

Q5
Here are the numbers of people living in the different houses in a short road.

4, 2, 3, 4, 5, 1, 3, 2


a)
Work out the mean number of people per house


             (3 marks)


b)
Work out the range of the number of people living in a house

   (2 marks)

Q6
The following table is taken from a holiday brochure for the Greek island of Kos.  It shows the mean midday temperature (in (F) for each of the months from April to October for Kos and London.

	
	Apr.
	May
	Jun.
	Jul.
	Aug.
	Sept.
	Oct.

	KOS
	69
	74
	80
	86
	86
	80
	75

	LONDON
	55
	62
	70
	71
	71
	65
	59


a)  
Mary says that the range in temperatures given for London is greater than the      

          range of temperatures given for Kos.  Is she correct?  Show your working.

b)     The midday temperatures (in (F) recorded in Kos from one week during the month      

          of  October are given as

82, 85, 79, 85, 83, 86, 88.

i) Calculate the mean midday temperature for this week.




ii) John is surprised at the answer to (i) as he thinks that the mean for the week should be the same as the mean for the month of October shown in the table.  Give a reason why this is not so.




(6 marks)


Q1
a)
mean length = 100.145 cm

b)
modal length = 99.3

c)      median length = 100.05

(3 marks)

Q2
a)
mean = 10.89 (to 2dp)

b)
mean = 3


 

mode = none



mode = 3




median = 12



median = 3 




range = 20




range = 4

(8 marks)

Q3
mean per dart = 36 








  (2 marks)

Q4
a)
63 + ? / 2 = 50
second paper score = 37 %

 
b)
first

(2 marks)

Exam style questions

Q5
a)
mean = 3 people








  (3 marks)


b)
range = 4









  (2 marks)

Q6
a)
range for Kos = 86 – 74 = 12





  (2 marks)



range for London = 71 – 55 = 16.





She is correct the range in London is greater.


b)
i)
mean = 84








  (2 marks)



ii)
the mean in (i) is only for 1 week.




The mean for the month uses more than 7 days.

  (2 marks)

Total / 26

